SHREE HEZHRHEAHFEFALNITHERE 1/ 2 ARLEITH 2021458250
£ 9110 = L TFKESR % 9402 & L TFKER % 9403 & L TKER
FKEEREREETHISE BHNESEERETSE (3-2I%) SHHNERCIERBETSE (3-31%)
EFEIG KFEth EIKIGAT =BIEFH, E 3T ESE=IEaN
%18 BSIE %78 BLBTE 278 BLBTE
EHLEEA EiLE% F RE (A% EHxE4A EHLEEE ¥ E g EHLxEA EFLEEE ¥ E il
44,000, 000 45,340,000 __  __ 4, 800, 000 4, 850, 000 5,100, 000 5, 460, 000
SR B 15 il PR (i 4% 40, 415, 000 S = 15 il R 4% 4,258, 000 RIS S 15 1 PR i 4% 4,788, 000
AfLEEA 1EIBA#LE | 2[EB AfLEE ALEEA 1EIEA#ZE | 2EIBA+LEE AHLEEA 1EIBAfLZE | 2@ B A%LEE
FEREEMH 50, 000, 000 MERITE G 4, 900, 000 ithIR T (%) 5, 150, 000
EREE® 51, 500, 000 ) Tatzr4e— 4,950, 000 ) Tatr32— 5,160, 000
55 T M 49, 800, 000 () MR BT 4, 850, 000 () DR 5, 130, 000
7K 6 B 2 () 52,000, 000 (B)EIx 4,830, 000 (B)BEIx 5, 140, 000
HWE—T9/ 45, 000, 000 () 1=K & 4,930, 000 (#) =< & 5, 100, 000
BRAITVC=ZTUTHE 47,000, 000 FISEAF (BF) 4,940, 000 FIBEHF (k) 5,120, 000
< 44, 000, 000 =R (k) 4, 800, 000 IR () 5,120, 000
B2 ER (BF) 4,900, 000 IR (k) 5, 150, 000
ST HE (B) 4,870, 000 HITHE () 5130, 000
(¥k) AR 4,980, 000 (¥) mARHE 5,110, 000
(/) EHES 4,850, 000 (B) S HEHX 5, 140, 000




STHREE FEEMEAHFEFALPTHERER 2/ 2 AHLEITH 2021458 25H

% 9104 = rFokEE [ @ 12006 B HegEE
ABMERLARETE G-4TH) RE S E RIS
BB IEED BT R EHIET
%7 LTS %15 RETH %1

EHEER EHE | FEmE EHEER EH2E | FEmE EHEER EHRE | @B

. 4, 900, 000 4, 900, 000 . . 36, 400, 000 36, 500, 000
SETBIEN e emmE | 420,000 T ore ) e | 32, 850, 000 S EFIR T

AMLEEZ | \EBAHLE | 2EEAHLE| AEESE | VEEAMNE 2EEAME| ALEEZ | 1BHAMLE| 2EEAMLE
IR T (%) 4,920, 000 MR T (%) 36, 600, 000
) Tatwr2— 4,950, 000 HIRER (k) 36, 400, 000
() R 4, 940, 000 ERETE () 37, 000, 000
(B)BET%E 4,980, 000 B TIEE (%) 36, 800, 000
) =< & 4, 930, 000 (B)THEHR 37, 200, 000
FIBRAF (Fk) 4,970, 000 (%) =< & 36, 950, 000
EiR%E (%) 4, 940, 000 (%) RiRE%K 36, 900, 000
R (5) 4,920, 000
T TISE (B) 4,900, 000
(k) BEAAH 4, 950, 000
(B) SHEX 4, 960, 000




